A pp — 88,8 < bbX] Pp — 88,8 — X1 PP — 888 — 94X1 PP — 888 — 9qVA1

Region | Niw Npjer  Hr[GeV] HEFS [GeV] | —my = 1000 GeV ng = 1200 GeV g = 1000 GeV g = 1000 GeV

My = 900 GeV My = 800 GeV Mg = 800 GeV My = 800 GeV
1 3+ 0 500+ 500+ 14.57 £0.34 0.36 +0.02 95.92 +1.52 39.08 +0.91
2 3+ 0 1500+ 750+ 0.82 +0.08 0.03 £0.01 6.93 +0.39 3.42+0.26
3 5+ 0 500+ 500+ 6.62 +0.19 0.36 = 0.02 77.35+1.33 35.64 +0.86
4 5+ 0 1500+ 750+ 0.54 +0.05 0.03 £0.01 6.50 + 0.37 3.41+0.26
5 9+ 0 1500+ 750+ 0.05 £+ 0.01 0.03 £0.01 1.16 £0.13 1.35+0.16
6 3+ 2+ 500+ 500+ 51.48 +0.77 5.78 £0.20 4.724+0.12 4.55+0.16
7 3+ 1+ 750+ 750+ 22.83+0.52 1.27 £0.09 6.55 +0.23 3.70+0.17
8 5+ 3+ 500+ 500+ 13.25+0.38 3.19+0.16 0.47 +£0.03 0.72 £0.05
9 5+ 2+ 1500+ 750+ 3.45+0.19 0.85 + 0.08 0.43 +0.04 0.48 +£0.05
10 9+ 3+ 750+ 750+ 0.38 £+ 0.06 0.53 +0.07 0.04 £0.01 0.09 £ 0.03
11 7+ 1+ 300+ 300+ 50.16 +0.70 30.80 + 0.45 38.12+0.53 45.94 4+ 0.62
12 5+ 1+ 750+ 750+ 15.96 + 0.41 1.27 £0.09 5.87 £0.22 3.61£0.17




